CONTENTS

Finding the Right Label	
Branding and Merchandising Products	
Letter and Envelope Labelling	
Parcel and Package Labels	
Conference Products	
Card Products	
File and Folder Labels	
Multi-purpose and Media Labels	
Organisation and Storage Labels	
Industrial and Heavy Duty Labels	
Signs	
Dispenser Labels	
Home Pack Labels	
Presentation and Filing Products	
Inspired	
Notes and Tabs	
Education	





Create and print your labels with Avery Design & Print Online

Visit averyproducts.com.au/print or avery.co.nz/print



1

- Visit averyproducts.com.au/ print or avery.co.nz/print
- On the Avery Design & Print Online screen, click on **Start Now**
- In the Enter Your Product Number Here field, type in the software code on your Avery packet
- Click on Go. You'll see the Select Your Design screen.



3

- If you've selected a pre-designed template, you'll see some sample text (like "Company Name"). Highlight the sample text and type over it with your
- information.
 To add text, click on Text (it's on the menu on the left hand side of the screen), and then New Text. Type over the sample text that appears, and adjust your fonts and colours.



- To insert an image, click on **Images** (it's on the menu on the left hand side of the screen), and then either **From Avery Gallery** (to choose one of the pieces of free clip art) or **From My Computer** (to use an image from your own files)
- 4 • When you have finished designing your project, click on **Preview & Print**. You'll see a preview of your project.



5



- If you're happy with your project, click on **Print**. Design & Print Online will create an Adobe PDF version of your project.
 Print from Adobe Reader as normal. Ensure **Page Scaling** is set
- Print from Adobe Reader as to **None**, and your page settings are set to A4.
- You can save your document in the Adobe PDF format for future printing.



avery.co.nz 0800 228 379

- You'll see the range of pre-designed templates we've provided, or you can start with a blank template and create your own design
 Select the design you like
- Click on Select & Customise. The Customise screen will open with your template visible.



By using the table below, you can find the perfect Avery label for any kind of project in 5 simple steps.

tep 1 noose your labelling oplication	Step 2 Choose your type of use	Step 3 Choose your label variety e.g: White Quick Peel [™] or Fluoro yellow	Step 4 Choose your printer type. See Printer Key for descriptions	Step 5 Go to pag- number
ANDING & MERCHANDISING PRODUCTS	Type of use	Label Variety		Page No
CALIFORNIA WINDO INFORCE	Print to the edge	Round or Oval White, Round Kraft Brown		90
() (month in the)	Print to the edge Arched	White Textured		90
CREATIVE SUINEE IM/TOR25	Tag	Double Sided with Strings	•	90
W TRU	Shelf Tag	White, Removable	•••	90
	Window & Wall Signage Bag Toppers	White with Bags		91 91
	bag toppers	with bugs		
MAILING LABELS	Type of use	Label Variety		Page No
-		Clear - Transparent labels, perfect for use on coloured envelopes		93
1.1		White Enviro - 100% recycled material		91
SELV M		White Glossy - for premium look and photo feel		95 94
arri		White Matt - smooth feed material for colour laser printers White Quick Peel [™] - for quick and easy labelling		94
XV		White TrueBlock [™] - covers everything underneath		94
	Shipping & Parcel Labels	White 2 in 1 TrueBlock [™] - half label for addressing and half paper		
A second se	2	for your shipping document	• •	94
The Owner	1 1 4 4	Brown Kraft - for printing that appears as if on the box	• •	95
	and the second s	White and Fluoro Orange Printable Warning - for parcel warning labels	•	94
	-	General Use - Laser/inkjet/copier labels	•	99
		Unistat - Laser/inkjet/copier labels		99
1	/	Clear - Transparent labels, perfect for use on coloured envelopes		93
		White Enviro - 100% recycled material	•	91
		White Glossy - for premium look and photo feel		95
111 1		White Matt - smooth feed material for colour laser printers		92
	Addressing Labels	White Quick Peel [™] - for quick and easy removal of labels		92
		White Dot Matrix - on continuous fanfold		100
		General Use - Laser/inkjet/copier labels Unistat - Laser/inkjet/copier labels		99 99
		Roll Address Labels		106
FILING LABELS	Type of use	Label Variety		Page No
Budge Supplie Marketing Unrouting Demands	Printable Labels	White and Coloured (blue, red, yellow and green) Lever Arch - for colour-coding binders		98
MEDIA LABELS	Type of use	Label Variety		Page No
	CD/DVD	White Matt and Glossy - for CD and DVD labelling		98
		White Matt and Glossy - for videos, discs etc labelling		99
IDENTIFICATION LABELS	Type of use	Label Variety		Page N
	Durable Heavy Duty Labels	White and Silver - for outdoor or labelling in extreme conditions		104
A Tomat Constraint	Removable Labels Colour-coding Labels	White - for temporary identification, can be easily removed Coloured (blue, red, yellow, green) for colour-coding		100
a Lock Nats	Signalling Fluoro Labels	Fluoro (yellow, pink, green, orange) - for attention		100
Lock Note 2" Log Bolts	6	White Fabric and Vinyl - to treat clothing with care		96
Jack Nata 3" Lighters	Name Badge Labels	Name Badge Label Pads - for handwritten name labels		92
Property of: 2 Second	Round and Oval Shaped	Clear - for invitations and elegant projects		93
Arriage State Theme	Multi-purpose Labels	White and Fluoro Yellow - for general identification		101
MOTOTS CON SCIENCE TO	Security Anti-tamper Labels	White - to secure confidential documents and property		103
	Printable Cord Tags			101
		Neon colours - for ease of finding		102
	Organisation Labels	Neon colours - for ease of mining		
OTHER LABELS		Label Variety		Page No
UTH QUARTER	Organisation Labels	•		Page No 110
4TH QUARTER	Organisation Labels Type of use	Label Variety		
4TH QUARTER	Organisation Labels Type of use Label Pads Roll Address Labels Note Tabs	Label Variety Coloured removable organisation labels Permanent self adhesive address labels on rolls Removable, repositionable note tabs		106 111
4TH QUARTER	Organisation Labels Type of use Label Pads Roll Address Labels Note Tabs Franking Labels	Label Variety Coloured removable organisation labels Permanent self adhesive address labels on rolls Removable, repositionable note tabs For postal franking machines		110 106 111 106
UTH QUARTER	Organisation Labels Type of use Label Pads Roll Address Labels Note Tabs	Label Variety Coloured removable organisation labels Permanent self adhesive address labels on rolls Removable, repositionable note tabs		110 106 111





85

Microsoft

To Download FREE Avery

templates and software visit avery.co.nz PARCEL AND SHIPPING LABELS

200.7 x 93.1mm

86



ROUND, OVAL AND ARCHED LABELS



MAILING AND ADDRESS LABELS

63.5 x 46.6mm	99.1 x 3	38.1mm 64 x 24.3mm
64 x 33.8mm	38.1 x 21.2mm	76 x 46.4mm 63.5 x 38.1mm
99.1 x 33.9mm 64 x 27.3	7mm	

BUSINESS CARDS

90 x 52mm	86.5 x 55.5mm
86.5 x 55.5mm 85 x 54mm	80 x 50mm
	63.5 x 29.6mm

NAME BADGES AND NAME BADGE LABELS

Labels

87

MEDIA, FILING AND SPECIALTY LABELS





CASE STUDY: **The Knitting Room** Birkenhead, Auckland



Background

When Kate and Tracy at The Embroiderer decided to create a niche specialist knitting store, they knew that they had a captive market. Inspired by the many crafty customers who frequented The Embroiderer they knew that there was a market for knitting products locally. Armed with an idea Kate & Tracy started The Knitting Room.

Challenges

Operating in a niche market and small retail store had its challenges. With display space at a premium, it was essential that Kate & Tracy planned their retail space using smart point of sale solutions that directed customers to The Knitting Room and its products.

The Knitting Room retails small runs of specialist knitting yarns so each product label or swing tag needed to be customisable at a drop of a hat.

The packaging of The Knitting Room product is a key focus – enabling the business to sell smaller items in branded packaging that protects the product.

Kate & Tracy know that their brand is an important feature of the business – offering differentiation from other yarn retailers and reinforcing their store message. Ensuring that their brand is easily recognisable is imperative.

Solutions

Avery Branding and Merchandising products are the perfect solution for a business like The Knitting Room. The *Glossy Round Labels* are ideal for labeling bags. The *White Printable Bag Toppers with Bags* are

the perfect solution for providing retail packaging for the smaller knitted products. And the *Printable Shelf Tags* make a great pricing ticket.

With supporting templates, Kate and Tracy are able to print labels and other branding and merchandising products easily and effectively, enabling The Knitting Room brand to be presented professionally within the store.

"I am so impressed with Avery Branding and Merchandising products – using the Avery Design & Print Online templates is just so easy, and the branding looks fabulous" says Kate. With free online templates, creating labels and packaging is quick and easy. The templates are customisable and Kate & Tracy can adapt their labels as their product range changes.

With the help of Avery, Kate & Tracy can easily produce professionally branded labels and merchandising solutions, in-store, as and when they need them.









AVERY PRINT TO THE EDGE ROUND AND OVAL LABELS

Ideal for creating high quality branded labels for your products. Print-to-the-edge feature lets you add a full-colour background to your brand logo, product name, address or message. Permanent adhesive works on glass, plastic and paper, so it can be used on a variety of product packaging. Print labels for your product in the quantity you need, when you need them. Customise your labels with free Avery designs in Avery Design & Print Online.

<i>c</i> .	e quantity	you need, men	you need them oustonise j		lee mely design	o in meny besign	
Co	de	Software Code	Description	Printer Type	Labels / Sheet	Sheets / Pack	Size (mm)
23	9517	L7105	Round White Glossy Labels	Laser	12	10	60 dia
23	9516	L7102	Oval White Glossy Labels	Laser	18	10	63.5 x 42.3
23	9518	L7106	Round Kraft Brown Labels	Laser	12	15	60 dia
	12		2				

AVERY PRINT TO THE EDGE ARCHED WHITE GLOSSY

Water-resistant labels are perfect for glass bottles and jars, plastic, metal and paper. Print-to-the-edge feature lets you add a full-colour background to your brand logo, product name, address or message. Labels are specially designed for the wine industry and are ideal for branding chilled products as the permanent adhesive and colours stay when wet. Easily customise and print in minutes with free templates and designs from Avery Design & Print Online

Code 239519	Software Code	Description Arched White Textured Labels	Printer Type	Labels / Sheet		Size (mm) 57.15 x 77
239519	L/110	Arched white lextured Labels	Laser	9	10	57.15 X 77



AVERY PRINTABLE TAGS WITH STRINGS

Create a professional look and feel for your products with these print-to-the-edge, micro-perforated tags. Printable tags to display your logo or company information in rich colours and sharp text. Includes perforated holes and premium-style fabric string with a quick latch fastener for easy and secure attachment. Easily customise and print tags in minutes with free templates and designs from Avery Design & Print Online

Code 239521	Software Code C32300	Description Double-Sided Printable Tags with Strings	Printer Type Inkjet	Tags / Sheet 10	Sheets / Pack 10	Size (mm) 89 x 51



AVERY PRINTABLE REMOVABLE SHELF TAGS

Grab customers' attention to new products, sales, promotions, special offers and more. Removable adhesive lets you quickly and cleanly change tags as needed. Easily customise and print tags in minutes with free templates and designs from Avery Design & Print Online. Compatible with laser printers.

Code	Software Code	Description	Printer Type	Tags / Sheet	Sheets / Pack	Size (mm)
239520	C32301	White Removable Shelf Tags	Laser	6	10	85 x 55
6						



AVERY PRINTABLE REMOVABLE WINDOW AND WALL SIGNAGE

Create unique, customisable signage for your business. Signage works two ways— remove backing for an 21.5 x 27.9 cm sign to stick on walls or detach front adhesive strips to apply a 19.6 x 26 cm sign on the inside of a window. Signs stay in place until you remove them, leaving no messy residue (not intended for use longer than four months). Easily customise and print from your computer in minutes with free templates and designs from Avery Design & Print Online.

Code	Software Code	Description	Printer Type	Signs / Sheet	Sheets / Pack	Window (mm)	Wall (mm)
239523	J8112LT	White Removable Retail Signs	Inkjet	1	10	196.9 x 260.4	215.9 x 279.5
1		1					
		1					



AVERY PRINTABLE BAG TOPPERS WITH BAG

J Wall Sign

Customise retail packaging or create promotional giveaways with your company name, product or logo. Package includes bags* and printable hang sell with pre-applied adhesive for quick and easy assembly (*Do not use bags for food. Do not microwave bags.). Optional perforated holes can be removed to display bags on slot or peg hangers. Easy step-by-step instructions are included.

Code	Software Code	Description	Printer Type	Toppers / Sheet	Sheets / Pack	Size (mm)
239522	L7112	Printable Bag Toppers	Laser & Inkjet	4	10	48 x 137
		with Bags				



LETTER AND ENVELOPE LABELLING

AVERY ENVIRO LABELS

Window Sigr

Does your workplace have a recycling policy? Are you doing all you can to make sure that policy is met? You could use Avery Enviro products. This range of environmentally friendly labels is made from recycled paper so you can be sure you are doing your bit to help the environment. Not only that, these Enviro labels are safe for your printer and provide a high printing quality.

Code	Software Code	Colour	Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)
238683	L7651EV	White	65	100	6500	38.1x21.2
238682	L7159EV	White	24	100	2400	64x33.8
238681	L7163EV	White	14	100	1400	99.1x38.1
238680	L7167EV	White	1	100	100	199.6x289.1
65	24	4 1				necicles

AVERY ADDRESS MAILING KIT

Get the best of both worlds with this address mailing kit containing addressing and return addressing labels. Economical and handy for those smaller mail-outs or party invitations! Supported by free Avery templates available at www.avery.co.nz

Code	Software Code	Colour	Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)
238376	J8651	White	65	2	192	38.1x21.2
	J8159	White	24	8	130	64x34







-abels

AVERY A4 WHITE LASER MAILING & ADDRESS LABELS

Avery White Quick Peel[™] Mailing Laser Labels with Pop-up Edge[™]. New Quick Peel Pop-up Edge makes peeling the label faster and easier. They are great for high volume mailings and just as good for one at a time usage. Simply bend back the sheet and the edge pops up - just peel and apply. Fold back if required while applying. Use the new Quick Peel Pop-up Edge feature or remove labels as before. Ideal for addressing and shipping of letters, parcels, and boxes. Laser Labels guaranteed Jam Free™ printing on laser printers. Supported by free Avery software available at www.avery.co.nz

Code	Software Code	Colour	Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)
100 Shee	t Packs					
238674	L7651	White	65	100	6500	38.1x21.2
238676	L7156	White	45	100	4500	58x17.8
238677	L7157	White	33	100	3300	64x24.3
238678	L7158	White	30	100	3000	64x26.7
238022	L7159	White	24	100	2400	64x33.8
238023	L7160	White	21	100	2100	63.5x38.1
238024	L7161	White	18	100	1800	63.5x46.6
238025	L7162	White	16	100	1600	99.1x33.9
238026	L7163	White	14	100	1400	99.1x38.1
238027	L7164	White	12	100	1200	63.5x72
20 Sheet	Packs					
238017	L7160	White	21	20	420	63.5x38.1
238018	L7161	White	18	20	360	63.5x46.6
238019	L7162	White	16	20	320	99.1x33.9
238021	L7163	White	14	20	280	99.1x38.1

Note: feed the short edge of the label first





sharon Landreth

AVERY A4 WHITE MAILING & ADDRESS INKJET LABELS

Just heard about a last minute marketing opportunity? Need to send a direct mail urgently? No matter how quickly you need to send it you'll want to make sure it looks professional. You need labels that give a great first impression. These address labels dry instantly after printing so you can place them straight on the envelope. And you can peel and apply them with ease using the unique Quick Peel[™] Pop-up Edge[™].

	5	11.5		5 1		1 1 5
Code	Software Code	Colour	Labels / Sheet	Sheet / Pac	k Labels / Pack	Size (mm)
50 Sheet	Packs					
238064	J8651	White	65	50	3250	38.1x21.2
238373	J8157	White	33	50	1650	64x24.3
238374	J8158	White	30	50	1500	64x26.7
238375	J8159	White	24	50	1200	64x33.8
238054	J8160	White	21	50	1050	63.5x38.1
238055	J8161	White	18	50	900	63.5x46.6
238056	J8162	White	16	50	800	99.1x33.9
238057	J8163	White	14	50	700	99.1x38.1
25 Sheet	Packs					
238451	J8651	White	65	25	1625	38.1x21.2
238428	J8158	White	30	25	750	64x26.7
238429	J8159	White	24	25	600	64x33.8
238430	J8160	White	21	25	525	63.5x38.1
238431	J8161	White	18	25	450	63.5x46.6
238432	J8162	White	16	25	400	99.1x33.9
238433	J8163	White	14	25	350	99.1x38.1
65	33		24 2		16	- 1 4-





Labels

92

AVERY CLEAR LASER LABELS

Coloured envelope, patterned paper or gift boxes - when your mail drops through someone's letterbox you want to make sure it gets read. Make it stand out from the rest by using these Avery clear laser labels on your coloured envelopes. The text will look as though it has been printed on the envelope. The transparent labels virtually disappear! You can peel and apply in no time using the unique Quick Peel[™] Pop-up Edge[™] so it's a great office time-saver. These clear laser labels can be used with black and white and colour laser printers.

			,			
Code	Software Code	Colour	Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)
238038	L7551	Clear	65	25	1625	38.1x21.2
238042	L7560	Clear	21	25	525	63.5x38.1
238039	L7562	Clear	16	25	400	99.1x33.9
238040	L7563	Clear	14	25	350	99.1x38.1
238041	L7565	Clear	8	25	200	99.1x67.7
238540	L7567	Clear	1	25	25	199.6x289.1
65	21			1		



AVERY INKJET CLEAR MAILING LABELS

Brown, cream, silver, red - whatever colour the envelope is, you want to make sure your addressing looks neat and professional. Let your mail show its true colours - use clear labels for an inkjet printer to print the recipient's address. It's a great way to get a professional finish as it looks as if the text has been printed directly onto the envelope. In fact, the transparent labels virtually disappear. You can peel and apply the inkjet labels with ease using the unique Quick Peel™ Pop-up Edge™.

Code	Software Code	Colour	Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)
238401	J8560	Clear	21	25	525	63.5x38.1
238404	J8565	Clear	8	25	200	99.1x67.7





AVERY CLEAR INVITE LABELS

No job's too big or too small. When you only need a few labels to do the job instead of an entire sheet, use the efficiency of Avery Mini Sheets of clear labels - simply input and format your custom text using a free template from www.avery.co.nz

Code	Software Code	Colour	Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)
238378	J5303	Clear	5	15	75	76x25.4





PARCEL AND PACKAGE LABELS

AVERY A4 WHITE LASER PARCEL & SHIPPING LABELS

Avery White Parcel & Shipping Laser Labels with True Block™ Technology. New True Block™ technology completely covers everything underneath the label. Enables existing packaging to be reused saving time and money. Ideal for shipping of letters, parcels, and boxes. Laser Labels guaranteed Jam Free[™] printing on laser printers. Supported by free Avery software available at www.avery.co.nz

Code	Software Code	Colour	Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)
100 Sheet	Packs					
238035	L7173	White	10	100	1000	99.06x57
238028	L7165	White	8	100	800	99.1x67.7
238029	L7166	White	6	100	600	99.1x93.1
238032	L7169	White	4	100	400	99.1x139
238015	L7155	White	3	100	300	200.7x93.1
238031	L7168	White	2	100	200	199.6x143.5
238030	L7167	White	1	100	100	199.6x289.1
20 Sheet	Packs					
238020	L7167	White	1	20	20	199.6x289.1
		4	3	2 1		



AVERY A4 WHITE PARCEL & SHIPPING INKJET LABELS

Just heard about a last minute marketing opportunity? Need to send a direct mail urgently? No matter how quickly you need to send it you'll want to make sure it looks professional. You need labels that give a great first impression. These address labels dry instantly after printing so you can place them straight on the envelope. And you can peel and apply them with ease using the unique Quick Peel[™] Pop-up Edge[™].

Code	Software Colour Code		Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)
50 Sheet I	Packs					
238059	J8165	White	8	50	400	99.1x67.7
238063	J8169	White	4	50	200	99.1x139
238062	J8168	White	2	50	100	199.6x143.5
238061	J8167	White	1	50	50	199.6x289.1
25 Sheet I	Packs					
238435	J8165	White	8	25	200	99.1x67.7
238437	J8167	White	1	25	25	199.6x289.1
8	4	2	1			



AVERY PRINTABLE WARNING LABELS

Print individual warnings for shipping items for maximum impact. Use white labels to show white text on coloured backgrounds. Use neon orange labels to achieve maximum visibility. Laser Labels guaranteed Jam Free printing on laser printers. Allows users to customise warning labels or to use standard templates available from www.avery.co.nz

Code	Software Code	Colour	Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)
238644	L7990	Neon Orange / White	8	20	160	99.1x67.7
238645	L7991	Neon Orange / White	8	20	160	50x142
				ille		





AVERY A4 WHITE 2IN1 TRUEBLOCK SHIPPING LABELS WITH PAPER RECEIPT

Half label, half paper - for printing in one go! Save time printing shipping labels & invoice or delivery notes separately, now you can do it in one go. Ideal for internet shipping or courier shipping. Perforation between label and paper allows easy separation. Bright White TrueBlock material for Shipping Labels hides old text and labels - ideal for reusing packaging materials. Laser Labels guaranteed Jam Free printing on laser printers. Supported by free Avery templates available at www.avery.co.nz

Code	Software Code	Colour	Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)
100 She 238640	L7980	White	1	100	100	182x130
20 Sheet 238761	t Packs L7980	White	1	20	20	182x130









AVERY BROWN KRAFT SHIPPING LABELS

These labels blend right onto cardboard and completely block out what is underneath, allowing you to re-use your boxes. Logos, addresses and other messages already on the box can be covered and your print appears to be printed right on the box for a neat and professional appearance. Use Brown Kraft Labels instead of wrapping the whole parcel in Kraft paper. Ship more efficiently and reduce your impact on the environment with eco-friendly Avery Brown Kraft Shipping Labels. The label paper is made of 100% recycled material, processed chlorine-free, and is 100% recycleable.



AVERY GLOSSY LABELS FOR COLOUR LASER PRINTERS

Have you got sales information that needs marking with special offers or company information? Perhaps you need to highlight the end of an offer. Maybe you have a supplier brochure that you want to add your own sales information to. Whatever the need, you'll want the labels to look as stylish as the brochures. Avery Glossy labels are made from a photo quality material so text and graphics will really stand out.

Code	Software Code	Colour	Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)
238565	L7765	White	8	25	200	99.1x67.7
238580	L7760	White	2	25	50	117 CD/DVD
238567	L7767	White	1	25	25	199.6x289.1





CONFERENCE PRODUCTS

AVERY FABRIC AND VINYL PRINTABLE NAME BADGE LABELS

Create name badges fast and easily using your laser printer. Ideal for seminars, meetings, trade fairs, conferences and training sessions. Made from flexible materials, they can be used on most textiles and removed without leaving residue. The Vinyl labels allow you to print your labels and pop them out from the backing sheet, allowing you to re-order and display your badges once printed, and without them sticking to the table as they have their own individual backing sheet – no need for plastic holders or putting pins through your delegates clothing any more!

Code	Software Code	Colour	Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)	
Fabric Pri	intable Name Badg	e Labels					
959170*	L4784	White	27	10	270	63.5x29.6	
231445	L7418	White	8	10	80	86.5x55.5	Harrison /
Vinyl Prir	ntable Name Badge	Labels					
238774	L7418	White	10	20	200	80x50	
*Product o	only available on ind	ent order.					
27	8 1 0		Anne Demothetino	5	Y-	Annual An	Keynelitation Labels Access and a second se

CARD PRODUCTS

AVERY QUICK & CLEAN™ BUSINESS CARDS

Make the right impression every time with Quick & Clean[™] business cards that separate easily with clean edges to ensure you stand out from the competition. Take advantage of free software and templates from www.avery.co.nz to design and print your professional business cards from your laser or inkjet printer in minutes. First impressions last, make yours last longer.

	Code	Software Code	Details	Cards / Pack	Size (mm)
1	238669	C32040	Business Card Starter Kit - 220gsm double sided satin white business cards for colour laser printers	100	85x54
i	238670	C32011	200gsm matt white business cards for laser & inkjet printers	250	85x54
i	238579	C32016	220gsm double sided satin white business cards for colour laser printers	250	85x54
:	238476	C32015	260gsm double sided matt white business cards for inkjet printers	200	85x54
	10-				



AVERY SMOOTH EDGE MICROPERFORATED BUSINESS CARDS

Get professional business cards without the wait. Simply design your business cards using software and templates from www.avery.co.nz and then print only the number of cards you need directly from your laser or inkjet printer. No waste, in no time!

Code	Software Code	Details	Cards / Pack	Size (mm)	
Laser					
238036	L7414	Microperforated 150gsm matt white business cards for laser & inkjet printers	200	90x52	
238037	L7415	Microperforated 150gsm matt white business cards for laser & inkjet printers	1000	90x52	
Inkjet					
237900	IJ39	Microperforated 205gsm leathergrain business cards for inkjet printers	200	90x52	Business Cards
					East Last 2000



-abels

AVERY LASER & INKJET DELEGATE CARDS

Want to make a big impression? These professional delegate cards and name badges are huge on class. Ideal for trade shows and conferences, these heavyweight cards and name badges keep your company's name and logo upright for all to see. And with free software on www.avery.co.nz, get a free template that's right for you, then print your finished design from your inkjet or laser printer. The result? Captivating delegate cards that stand out from the crowd.

Code	Software Code	Details	Cards / Pack	Size (mm)
238660	L7418K	Laser & inkjet name badge kit. Contains 20 pin and clip name badge holders and 24 name badge cards	24	86.5x55.5
238661	L7418K	Laser inkjet and laser name badge refill kit	200	86.5x55.5
238665	L7423	Matt white 150gsm laser and inkjet delegate cards	50	210x74.25

AVERY DOUBLE SIDED FOLDING LASER BUSINESS CARDS

Need to say more? Folded laser business cards give you extra space to give potential clients even more information. You could have your company logo and contact details on the front, a description about what you do on the inside and then a promotional offer on the back. 4 sides = 4 sides of possibility! If you have an event or sales promotion coming up you could print folded business cards specifically for the event to promote any extra information. Just use free templates from www.avery.co.nz to combine colour, graphics and text into a unique design that your customers will remember.

CodeSoftware CodeColourCards / SheetSheet / Pack238383C32068White425	Cards / Pack 100	Size (mm) 85x54
5		



AVERY MAGNETIC BUSINESS CARDS

Want a business card with a little positive attraction? These magnetic inkjet business cards are specially coated for sharp text and vivid colours and are pre-cut for easy separation. They easily stick to most metal surfaces to keep them displayed and on people's minds. And with free templates from www.avery.co.nz, you can customise the cards with outstanding text and graphics and then print them on your inkjet printer in minutes. Finally, a business card that stays on your fridge and in your customer's mind.

Code	Software Code	Colour	Cards / Sheet	Sheet / Pack	Cards / Pack	Size (mm)
238379	IJ37	White	10	10	100	90x52





FILE AND FOLDER LABELS

AVERY FILING LASER LABELS

End of year filing can be so time-consuming and sometimes stressful, especially when there are lots of other jobs to do. What you need is something that will speed up the process. Filing labels for an inkjet printer are just what you need. It's easy: just create all your labels using the free Avery software and templates, print them out and apply to your lever arch files. These bright white filing labels are quick drying to make the process even quicker.

Code	Software Code	Type	Colour	Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)	
238044	L7651	Tab	White	65	25	1625	38.1x21.2	
238033	L7171	Lever Arch	White	4	25	100	200x60	Fling Labels Lever Arch

MULTI-PURPOSE AND MEDIA LABELS

AVERY LASER MEDIA LABELS

Don't play hide and seek with your media. These matt white media labels make finding everything seriously convenient. Designed specifically for the advanced sensitivity of media devices, use these Avery labels to create high-quality, custom-made CD/DVD, slide, and spine labels to catalogue your media collection using downloadable software and free pre-designed templates from www.avery.co.nz.

Code	Software Code	Туре	Colour	Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)
238048	L7656	35mm Slide	White	84	25	2100	46x11.1
238051	L7665	Mini Data	White	24	25	600	72x21.1
238046	L7674	Video Spine	White	16	25	400	145x17
238052	L7666	3.5″ Disc	White	10	25	250	70x52
238503	L7676	CD/DVD	White	2	25	50	117



AVERY CD/DVD LABELLING KIT - INKJET AND LASER LABELS

Designing, printing and applying professional looking CD/DVD Labels is as easy as 1 2 3! The Avery Labelling Kit gives you professional looking CDs in just minutes:

1. Avery Design Pro Media software that allows you to create fantastic looking labels using the extensive image gallery, pre-designed templates or importing your own images.

2. Now print your creative designs using the broad range of Avery CD/DVD Labels.

3. Apply your printed label using the patented Avery Applicator. The applicator allows you to create perfectly applied and centred labels every time – for a professional finish. The kit comes complete with Software, Applicator, 50 White CD Labels and 10 White DVD Labels – everything you need to get you started. 238730 CD/DVD Labelling Kit



abels

-abels

AVERY INKJET MEDIA LABELS

Don't play hide and seek with your media. Inkjet Media Labels make finding everything seriously convenient. Designed specifically for the advanced sensitivity of media devices, use these Avery labels to create high-quality, custom-made CD/DVD, slide, and spine labels to catalogue your media collection using downloadable software and free pre-designed templates from www.avery.co.nz.

Code	Software Code	Туре	Colour	Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)
50 Sheet I	Packs						
238064	J8651	Media	White	65	50	3250	38.1x21.2
25 Sheet I	Packs						
238456	J8674	Video Spine	White	16	25	400	145x17
238459	J8676	CD/DVD	White	2	25	50	117
65		2.					



AVERY GENERAL USE LABELS FOR INKJET, COPIER AND LASER PRINTERS

Avery White General Use Multi-purpose Laser Inkjet Labels. New sizes for easier usage! New templates match Avery standard A4 templates, replacing DL templates, e.g. L7162 replaces DL14. New Avery standard templates now available in Microsoft Word. And now with Jam Free technology for perfect labels, every time. Ideal for mailing lists, account reminders and other frequent use applications. Suited to medium speed, black and white laser printers and photocopiers. Variety of sizes available. Now supported by Microsoft Word and free Avery software available at www.avery.co.nz

Code	Software Code	Replaces	Colour	Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)	Contraction of the local distance of the loc
238342	L7156	DL45	White	45	100	4500	58x17.8	
238336	L7157	DL33	White	33	100	3300	64x24.3	
238339	L7158	DL30	White	30	100	3000	64x26.7	
238335	L7159	DL24	White	24	100	2400	64x33.8	
238338	L7161	DL18	White	18	100	1800	63.5x46.6	White
238334	L7162	DL16	White	16	100	1600	99.1x34	General Use
238337	L7163	DL14	White	14	100	1400	99.1x38.1	Labels AVERY®
238341	L7164	DL12	White	12	100	1200	63.5x72	TTT ACTIN 3/1
238333	L7165	DL8	White	8	100	800	99.1x67.7	24
238340	L7169	DL4	White	4	100	400	99.1x139	64 x 33.8mm 2400 Lubeis 100 Sheets WHITE LASERJINKUETICOPER LABELS
238332	L7167	DL1	White	1	100	100	199.6x289.1	anna (Cardenaria



UNISTAT DL LABELS

To assist you with designing and printing your Unistat labels, download the FREE Unistat Label Star 4.0 software from www.unistat.com.au. This simple and user friendly software offers great functionality resulting in perfect labels the first time, every time!

Croxley Code	Software Code	Colour	Size	Labels / Sheet	Sheets / Pack	Labels / Pack
238542	DL33 / 38931	White	70 x 25mm	33	100	3300
238543	DL24 / 38933	White	70 x 36mm	24	100	2400
238548	DL21 / 38941	White	63.5 x 38mm	21	100	2100
238545	DL20 / 38936	White	98 x 25.4mm	20	100	2000
238549	DL16 / 38942	White	99 x 34mm	16	100	1600
238546	DL14 / 38937	White	98 x 38mm	14	100	1400
238544	DL8 / 38934	White	105 x 74mm	8	100	800
238541	DL4 / 38930	White	105 x 148mm	4	100	400
238547	DL1 / 38940	White	297 x 210mm	1	100	100
33	24 21	20	16 14		4 1	



AVERY DOT MATRIX LABELS

Got a dot matrix printer in your office? Then you'll need to make sure you have the right labels for it. These dot matrix labels are exactly what you need. The labels are specifically folded to work well with large mainframe printers. You can choose from a range of different label widths to meet all your labelling needs. And the labels are stored in a fanfold for smooth feeding through the printer.

100

Code	Туре
238356	TAB8947SW
238359	TAB5615SWS
238363	TAB6423SW
238343	TAB5615SW
238345	TAB5615MW3
238347	TAB5623MW2
238352	TAB6423SW

ode	Туре	Details	Labels / Pack	Size (mm)
38356	TAB8947SW	Single Width	2000	152x74
38359	TAB5615SWS	Single Width	2500	89x24
38363	TAB6423SW	Single Width	2500	102x36
38343	TAB5615SW	Single Width	10000	89x24
38345	TAB5615MW3	Multiple Width 3 Across	10000	89x24
38347	TAB5623MW2	Multiple Width 2 Across	10000	89x36
38352	TAB6423SW	Single Width	10000	102x36



ORGANISATION AND STORAGE LABELS

AVERY REMOVABLE LASER LABELS

Need to leave colleagues a temporary message? Perhaps a printer is faulty or a vending machine is out of order? Avery Removable Labels are ideal for writing instructions and temporary notes. You just print the message on the label and stick it where it can be seen. When the message has been read or it's no longer needed simply remove it. The label won't leave any residue but you can be sure it'll stay firmly in place.

Code	Software Code	Colour	Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)
238508	L7651REV	White	65	25	1625	38.1x21.2
238502	L7674REV	White	16	25	400	145x17
238506	L7162REV	White	16	25	400	99.1x33.9
238507	L7163REV	White	14	25	350	99.1x38.1
238501	L7671REV	White	12	25	300	76.2x46.4
959152*	L7157REV	White	33	25	825	64x24.3
959151*	L7159REV	White	4	25	100	99.1x139
959150*	L7167REV	White	2	25	50	199.6x143.5



*Product currently only available on indent order.



AVERY COLOUR CODING LABELS

Avery coloured labels make your items really stand out and enable instant recognition. Ideal for marking documents and files that need special attention and for labelling products and packaging for selling or shipping. Available in blue, yellow, green, red and assorted.

Code	Software Code	Colour	Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)
20 Sheet	Packs					
238783	L7163	Red	14	20	280	99.1x38.1
238784	L7163	Blue	14	20	280	99.1x38.1
238785	L7163	Green	14	20	280	99.1x38.1
238786	L7163	Yellow	14	20	280	99.1x38.1
238381	L7163	Assorted	14	20	280	99.1x38.1





AVERY FLUORESCENT SIGNALLING LASER LABELS

Need to get someone to take notice? Perhaps you've got some mail that needs reading urgently or a fragile item you want your recipient to take care of. Use Avery Fluoro Labels to make it really stand out. These fluoro yellow labels can be printed with your own message so they are great for labelling parcels and other important mail. Simply use free Avery software to design and print your labels in minutes.

Code	Software Code	Colour	Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)
231451	L7162FG	Green	16	25	400	99.1x34
231452	L7162FY	Yellow	16	25	400	99.1x34
231453	L7162FP	Pink	16	25	400	99.1x34
231454	L7162F0	Orange	16	25	400	99.1x34
231476	L7163FG	Green	14	25	350	99.1x38.1
231477	L7163FY	Yellow	14	25	350	99.1x38.1
231478	L7163FP	Pink	14	25	350	99.1x38.1
231480	L7163F0	Orange	14	25	350	99.1x38.1
231481	L7167FP	Pink	1	25	25	199.6x289.1
231482	L7176FY	Yellow	1	25	25	199.6x289.1



AVERY DURABLE PRINTABLE CORD TAGS

Identify and organise your cords with durable custom printed tags. Heat tolerance from -30°C to +105°C. Great as price tags on small items like jewellery or as mini gift tags. Includes 50 labels on five sheets.

Code	Software Code	Description	Printer Type	Tags / Sheet	Sheets / Pack	Size (mm)
239526	L7136LT	Durable Printable Cord Tags	Laser	5 (letter size)	10	57.15 x 25.4





AVERY PRINT TO EDGE ADHESIVE POCKETS WITH PRINTABLE INSERTS

20 clear adhesive pockets and 40 printable inserts. 220 gsm card is 85 x 54 mm, pocket is 95 x 59 mm. Durable clear pockets stick to a variety of surfaces. Printto-the-edge feature lets you use the whole label for designing an organisation system that works for you. Customise your inserts with free pre-designed templates in Avery Design & Print Online.

Code	Software Code	Description	Printer Type	Inserts / Sheet	Sheets / Pack	Size (mm)
239524	C32004	Adhesive Pockets with Print-to- the-Edge Printable Inserts	Laser & Inkjet	8	10	85 x 54



AVERY PRINT TO THE EDGE STORAGE

Ideal for archiving and long-term storage items. Acid-free labels - they won't fade or yellow. Get your office accounts storage and archiving under control. Customise your inserts with free templates in Avery Design & Print Online.

Code	Software Code	Description	Printer Type	Labels / Sheet	Sheets / Pack	Size (mm)
239525	L7134	Print-to-the-Edge Storage Labels	Laser & Inkjet	8	10	66.7 x 50.8



AVERY WHITE REMOVABLE FULL SHEET LABELS

Create full-page labels or cut out unique-shaped labels and signs. Removable adhesive allows for easy updating. Labels stick, stay and remove cleanly when needed. Compatible with both laser and inkjet printers.

Code	Software Code	Description	Printer Type	Labels / Sheet	Sheets / Pack	Size (mm)
239528	L7130	White Removable Full Sheet Labels	Laser & Inkjet	1	10	199.6 x 289.1
1						



AVERY WHITE REMOVABLE ORGANISATION LABELS

Labels stick, stay and remove cleanly when needed. Get your office organisation under control with labels on files, boxes, magazine racks and folders. Print-to-the-edge lets you print sharp text and bold colours to the edge of the labels. Compatible with both laser and inkjet printers.

Code	Software Code	Description	Printer Type	Labels / Sheet	Sheets / Pack	Size (mm)
239529	L7131	White Removable Organisation Labels	Laser & Inkjet	16	10	66.7 x 25.4





AVERY WHITE DURABLE LABELS

Ideal for identifying items that are stored outdoors. Heavy duty durable labels now with TrueBlock technology. TrueBlock technology completely covers everything underneath. Ideal for re-using old boxes and containers. Recommended for laser printers.

Code	Software Code	Description	Printer Type	Labels / Sheet	Sheets / Pack	Size (mm)
239527	L7135	White Durable Labels	Laser	32	8	44.5 x 31.8









AVERY ASSORTED NEON REMOVABLE ORGANISATION LABELS

• Bright neon colours let you find what you need in a flash. 2 sheets each of neon blue, pink, green and yellow. Labels stick, stay and remove cleanly when needed. Compatible with both laser and inkjet printers.

Code	Software Code	Description	Printer Type	Labels / Sheet	Sheets / Pack	Size (mm)
910002*	L7132	Assorted Neon Removable	Laser	30	8	64 x 26.7
		Organisation Labels				

*Product currently only available on indent order.





INDUSTRIAL AND HEAVY DUTY LABELS

AVERY ANTI-TAMPER LABELS

Avery Security Anti-Tamper Laser Labels. Specially developed label that reveals a STOP message upon attempted removal. Ideal for product assembly sealing, detecting unauthorised access, preventing counterfeiting or copying by securely sealing confidential information. Heavy duty material. Easy to use with Avery software which is available free at www.avery.co.nz.

Code	Software Code	Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)
238606	L6113	48	20	960	45.7x21.2
238607	L6114	27	20	540	63.5x29.6





AVERY HEAVY DUTY LABELS

When you work in a large company how do you know which computer belongs to which workstation? What if you have an office move? Can you be sure that everything will go back in the right place? Labelling your electrical equipment can solve the problem. Computers and printers are expensive items, so you need high quality labels that won't spoil them. These silver labels are just what you need. You can print your own text on the label, whether it's a department name or a reference code. These labels are oil and dirt resistant, splash proof, tear proof, unaffected by temperature changes between -20 and + 80 °C, UV-resistant, water and weatherproof!

Code Sof 25 Sheet Pack		Colour	Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)
		White	48	25	1200	45.7x21.2
238550 L70	060	White	21	25	525	63.5x38.1
238553 L70	063	White	14	25	350	99.1x38.1
238559 L70	069	White	4	25	100	99.1x139
238558 L70	068	White	2	25	50	199.6x143.5
238557 L70	067	White	1	25	25	199.6x289.1
20 Sheet Pack	ks - Silver					
238560 L60	800	Silver	189	20	3780	25.4x10
238561 L60	009	Silver	48	20	960	45.7x21.2
238562 L60	011-20	Silver	27	20	540	63.5x29.6
238563 L60	012 5	Silver	10	20	200	96x50.8
238771 L60	013	Silver	1	20	20	210x297

*Product currently only available on indent order.





SIGNS

AVERY SELF-LAMINATING ADHESIVE SIGNS

Do you get visitors at your workplace? If so you'll need some clear signage so they can find their way around the building. Perhaps you're organising an event and you want arrow signs to point people in the right direction. The self-laminating and self-adhesive signs are great for sticking on walls without the need for a laminator or sticky tape. It really is that easy. You can get creative by designing your own wall signs using free Avery software too.

Code	Software Code	Colour	Printer Type	Labels / Sheet	Sheet / Pack	Labels / Pack	Size (mm)
238382	L7087	Clear	Laser	1	10	10	170x257





_abels

AVERY REMOVABLE SELF-CLING SIGNS

Stick without adhesive. Self-cling Signs have a special, non-static coating which grips firmly to a variety of surfaces. No adhesive is used, making sticky residues a thing of the past! Ideal for many signs and particularly for delicate surfaces. Re-usable - can be removed and re-applied several times.

Code	Software Code	Description	Printer Type	Labels / Sheet	Sheet / Pack	Size (mm)
239532	L7080	Self-cling	Laser	1	10	190x275



1



AVERY ADHESIVE SIGN POCKETS

For regularly updated signs can be easily changed without replacing the entire sign pocket. They're self-adhesive and easy to mount. Ideal for temporary or frequently updated signs.

Code	Software Code	Description	Labels / Sheet	Sheet / Pack	Size (mm)
239533	L7083	Adhesive	1	10	221x304



AVERY DURABLE SIGNS

Great for outrdoor signs. Strong and durable, suitable for outdoor use. Ideal for warning signs, direction signs and any signs outdoors. Oil and dirt resistant, tear proof, water and weather proof, UV resistant and temperature resistant from -20°C to +80°C.

Code	Software Code	Description	Printer Type	Labels / Sheet	Sheet / Pack	Size (mm)
239534	L7091	Durable	Laser	1	10	190x275

1	





1

AVERY MAGNETIC SIGNS

Great for offices, kitchens, industrial areas and garage storage units Flexible and long-term magnetic signs are perfect for fridges, whiteboards and message boards.

Code	Software Code	Description	Printer Type	Labels / Sheet	Sheet / Pack	Size (mm)
239531	J8867	Magnetic	Inkjet	1	5	210x297



DISPENSER LABELS

AVERY FRANKING MACHINE LABELS

Need refills for your franking machine? Franking labels for hand-fed franking machines, including Satas, in a generous size to allow for both postal franking and advertising messages. Get your message across!

Code	Description	Labels / Sheet	Sheets / Pack	Labels / Pack	Size (mm)
238237	White franking label	2	250	500	92x152



AVERY ROLL ADDRESS LABELS

Looking for the ease of labels available on a roll? These Avery Roll Address Labels are perfect for handwriting or typing. Available in a variety of sizes and colours, they are perforated between each label for easy separation. Permanent adhesive means they'll stick harder and longer!

Code	Туре	Description	Labels / Pack	Size (mm)
238305	DMR8924RA	White permanent	250	89x24
238306	DMR102.36RA	White permanent	250	102x36
238303	DMR7638RA	White permanent	200	76x38
238304	DMR7638RA	White permanent	1000	76x38



AVERY DISPENSER LABELS

Fed up with wasting precious time labelling stock, packages, or even invoices? Avery removable labels in dispensers are a compact way of delivering labels one at a time, quickly. Available with a variety of sizes, in pre-printed text, white or in colour, they are perfect for getting your message across.

Code	Туре	Details	Labels / Pack	Size (mm)	Code	Туре	Details	Labels / Pack	Size (mm)
Rectangul	ar Removable I	abels			238418	DMC14FG	Fluorescent Green	700	14 dia
238274	DMR1016W	White Rectangular Labels	1500	10x16	238420	DMC1 4FR	Fluorescent Red	700	14 dia
238276	DMR1024W	White Rectangular Labels	1200	10x24	238422	DMC14F0	Fluorescent Orange	700	14 dia
238277	DMR1034W	White Rectangular Labels	750	10x34	238278	DMC18W	White	900	18 dia
238750	DMR1324W	White Rectangular Labels	900	13x24	238270	DMC24R	Red	500	24 dia
238279	DMR1336W	White Rectangular Labels	700	13x36	238265	DMC24B	Blue	500	24 dia
238282	DMR1349W	White Rectangular Labels	550	13x49	238266	DMC24BR	Brown	500	24 dia
238275	DMR1624W	White Rectangular Labels	800	16x24	238267	DMC24G	Green	500	24 dia
238285	DMR1924W	White Rectangular Labels	650	19x24	238272	DMC24Y	Yellow	500	24 dia
238286	DMR1930W	White Rectangular Labels	550	19x30	238268	DMC240	Orange	500	24 dia
238288	DMR1936W	White Rectangular Labels	450	19x36	238269	DMC24P	Pink	500	24 dia
238290	DMR1964W	White Rectangular Labels	280	19x64	238264	DMC24BL	Black	500	24 dia
238291	DMR2432W	White Rectangular Labels	420	24x32	238271	DMC24W	White	500	24 dia
238292	DMR2438W	White Rectangular Labels	380	24x38	238413	DMC24G0	Gold	250	24 dia
238294	DMR2449W	White Rectangular Labels	325	24x49	238415	DMC24SI	Silver	250	24 dia
238295	DMR3549W	White Rectangular Labels	220	35x49	238417	DMC24FY	Fluorescent Yellow	350	24 dia
238297	DMR4463W	White Rectangular Labels	150	44x63	238419	DMC24FG	Fluorescent Green	350	24 dia
238299	DMR7627W	White Rectangular Labels	180	76x27	238421	DMC24FR	Fluorescent Red	350	24 dia
238300	DMR8943W	White Rectangular Labels	100	89x43	238423	DMC24R0	Fluorescent Orange	350	24 dia
238302	DMR101.24W	White Rectangular Labels	160	101x24	Printed M	essage Labels			
Coloured	Round Labels				238318	DM05843HE	Hello I'm	100	58x43
238260	DMC14R	Red	1050	14 dia	238314	DMR1964R2	Urgent Action	125	19x64
238255	DMC14B	Blue	1050	14 dia	238315	DMR1964R3	Final Notice	125	19x64
238256	DMC14BR	Brown	1050	14 dia	238316	DMR1964R4	Friendly Reminder	125	19x64
238257	DMC14G	Green	1050	14 dia	238317	DMR1964R5	Any Reason	125	19x64
238262	DMC14Y	Yellow	1050	14 dia	238307	DMR1964UR	Urgent	125	19x64
238258	DMC140	Orange	1050	14 dia	238309	DMR1964S0	Sold To	125	19x64
238259	DMC14P	Pink	1050	14 dia	238308	DMR1964RF	Fragile	150	19x64
238261	DMC14W	White	1050	14 dia	238311	DMR2432S1	Sale Price	400	24x32
238254	DMC14BL	Black	1050	14 dia	238425	DMR4463SW	Was/Now	400	44x63
238751	DMC14PU	Purple	1050	14 dia	Ring Rein	forcers			
238412	DMC14G0	Gold	500	14 dia	238323	932242	Ring Reinforcers	250	-
238416	DMC14FY	Fluorescent Yellow	700	14 dia	238322	934241	Ring Reinforcers	500	-



Labels

HOME PACK LABELS

AVERY HOME PACK LABELS

Make your life easier by identifying contents of drawers or containers. Mark your name on small household or office objects, even decorate gifts and envelopes. The labels small size makes them highly versatile for use in any number of situations. These small resealable packs of Avery Home Pack labels offer great convenience.

Code	Description	Labels / Pack	Size (mm)
White Re	ectangles		
238077	Home pack permanent rectangular labels	72	18x38
238078	Home pack permanent rectangular labels	35	19x62
238080	Home pack permanent rectangular labels	42	25x50
238081	Home pack permanent rectangular labels	30	25x76
238104	Home pack permanent rectangular labels	14	54x80
238084	Home pack permanent rectangular labels	7	78x116
Round La	abels		
238123	Home pack permanent round labels	162	12 dia
Stars			
238108	Home pack stars gold	90	Small
238109	Home pack stars silver	90	Small
238107	Home pack stars assorted	90	Small
238110	Home pack stars silver	36	Large
Hearts			
238141	Home pack hearts gold	30	Medium
238143	Home pack hearts silver	30	Medium
238142	Home pack hearts gold	30	Medium

PRESENTATION AND FILING PRODUCTS

AVERY PICTURE VIEW FLEXIBLE BINDERS

Avery Picture View Flexible Binders A4. Durable Polypropylene plastic keeps your paper securely protected. Customise the front cover of your binder using the seven translucent holders.

Code	Colour	Ring	Spine (mm)	Size
238529	Purple	20 Ring	25	A4
238530	Green	20 Ring	25	A4
238527	Blue	20 Ring	25	A4
238532	Pink	20 Ring	25	A4
238531	Black	20 Ring	25	A4
238528	Red	20 Ring	25	A4

AVERY PICTURE VIEW TOURING BINDERS

Avery Picture View Touring Binders. Customise the front cover with your own photos, notes, schedules and more. The zippered organiser includes a writing pad, pen holders and zippered storage pouch.

Code	Colour
238533	Blue
238536	Black
238535	Green
238537	Pink
238534	Purple



-abels

AVERY CLEAR BINDER WALLET

AVERY TRANSLUCENT DOCUMENT WALLETS

Ideal for school or office use, the strong durable wallet suitable to hold loose papers, photos, etc. Fits any standard A4 ring binder.

Code	Colour
238538	Clear

AVER 0

Translucent document wallets in a range of colours to keep documents clean and secure during transport. Secure closure keeps flap safely shut. Includes business card holder. Perfect for A4 paper. Made from durable Polypropylene.





AVERY INSERTABLE DIVIDERS

Not enough room to print what you want on your tabs? No problems, big tab Avery Insertable Dividers have 40% more space for printing titles in larger sizes or more lines of text. Insertable tabs can be easily labelled, rearranged or changed as a result of the easy-access notch. Secure indent point also keeps inserts from falling out. Extra room doesn't have to be a luxury.

Code	Туре	Description	Format	Size
231709	85792	Coloured Insertable Dividers	5 Tab	A4
231714	85790	Clear Insertable Dividers	5 Tab	A4



AVERY INDEXMAKER

Is your presentation dressed for success? These Avery IndexMaker™ dividers with easy to apply labels add a professional look that will make your presentation stand out. With free templates and software from www.avery.co.nz and a laser or inkjet printer, you will have professional results in no time. Now you are ready to knock their socks off!

Code	Software Code	Description	Size	Format
238882	L7452-5	IndexMaker 5 Tab	A4	5 Tab
238884	L7452-10	IndexMaker 10 Tab	A4	10 Tab
238885	L7452-12	IndexMaker 12 Tab	A4	12 Tab



AVERY EXTENDED EDGE DOCUMENT SLEEVES

Assorted 5 pack of extended edge document sleeves and file labels. Use the included file folder labels to note the contents of the sleeve and stick the label to the extended edge for convenient reference. Protects your documents. Made from durable Polypropylene.

Code Colour

238804 Assorted colours



AVERY TUBECLIP FILE FASTENERS

Finding a space saving solution is really not as daunting as you may think. Avery Tubeclip 3 piece set is versatile and really is a great solution to save space. You don't even need to switch your filing system to enjoy this wonderful solution as Avery Tubeclip can be used with either manilla files or shelf lateral files. The Avery Tubeclip expands as the file fills in order to reduce wasted space.

Code	Туре	Description	Pack
231443	44005Y	Yellow Tubeclip File Fasteners	10
231446	44009Y	Yellow Tubeclip File Fasteners	100



INSPIRED

AVERY INSPIRED PRINTABLE CRAFT

Thanks to Avery Inspired[™] printable craft products, standing out from the crowd with your unique design is simple and fun! Design, print, and apply – being creative is just plain sailing with Inspired[™].

Code	Software Code	Description	Per / Pack	Size
237919	IJ47	Photo Greeting Card 205gsm	10	A4
237951	IJ107	Repositionable Transparent Signs	5	A4
237959	IJ37	Fridge Magnets	2	A4
237965	IJ76	White T-Shirt Transfers	5	A4
237948		White Stretchable T-Shirt Transfers	5	A4
237947	IJ77	Coloured T-Shirt Transfers	5	A4



NOTES AND TABS

AVERY LABEL PADS

There are lots of ways to use Avery Label Pads at home, work or school. Take a tour of our Label Pads and explore the features and how you can incorporate them into your life. Great for work, home, school and even when on-the-go.

Code	Colour	Labels / Pack	Size (mm)
Small			
238581	Neon Hot	120	25.4x76.2
238582	Neon Cool	120	25.4x76.2
238583	Recycled	120	25.4x76.2
238584	Bright	120	25.4x76.2
Medium			
238585	Neon Hot	80	50.8x76.2
238586	Neon Cool	80	50.8x76.2
238587	Bright Border	80	50.8x76.2
Large			
238588	Neon Hot	80	50.8x101.6
238589	Neon Cool	80	50.8x101.6
238590	Bright Border	80	50.8x101.6
Other			
238591	Bright Border File Labels	160	17x87.1
238592	Name Badge Red	40	61.7x85.6
238593	Name Badge Blue	40	61.7x85.6
238594	Multi-use White	40	76.2x101.6
238595	Multi-use Assorted	40	66.5x66.5



AVERY LABEL PAD BOOKS

Compact design, easy to carry around. Choice of 4 cover designs to protect your labels. Labels stick securely - remove cleanly. Getting organised has never been easier or faster.

Code	Cover Design	Labels / Book
22066*	Sandy/Orange	80
22067*	Blue Circles	80
22069*	Green Wavy	80
22071*	Purple Wave	80

*Product currently only available on indent order.



AVERY NOTETABS

Organise your work, your way with Avery Small NoteTabs[™]. Whether you're organising documents, referencing books, dividing notebooks or taking notes, Avery NoteTabs fit the way you work. Sturdy tabs are made of durable material so it's easy to turn pages. Write – or even highlight – anywhere on the tab or see-through surface area without leaving a mark on the actual page, and remove or reposition the NoteTabs without lifting the ink from the page. With Avery NoteTabs, it's easy to get organised and stay organised.

Code	Edge	Colour	Tabs / Pack	Size (mm)	
Mini				MEW MEW	
239535	Curved	Assorted Primary red, blue, yellow and green	80	25.4 x 38.1	
239536	Curved	Assorted Citrus pink, lime, orange, yellow	80	25.4 x 38.1	
239537	Curved	Assorted Neon blue, yellow, pink, purple	80	25.4 x 38.1	
239538	Curved	Assorted Primary red, blue, yellow and green	40	25.4 x 38.1	
239539	Curved	Assorted Citrus pink, lime, orange, yellow	40	25.4 x 38.1	
239540	Curved	Assorted Neon blue, yellow, pink, purple	40	25.4 x 38.1	
Small					
238512	Square	Pastel yellow and pink	20	50.8x38	
238513	Square	Neon blue and magenta	20	50.8x38	
238514	Round	Neon blue and magenta	20	50.8x38	
238515	Round	Pastel blue and green	20	50.8x38	
Medium					
238516	Square	Pastel blue and green	16	76.2x38	
238517	Square	Neon blue and magenta	16	76.2x38	
Large					
238518	Square	Grey taupe	10	76.2x88.9	
238519	Square	Pastel blue	10	76.2x88.9 NoteTabs	
238520	Square	Pastel yellow	10	76.2x88.9	
238521	Square	Neon blue	10	76.2x88.9	
Perforate	d			NoteTabs 🔮	
238522	Perforated	Pastel yellow and pink	6	76.2x190.5	٩.
238523	Perforated	Neon blue and magenta	6	76.2x190.5	
Pocket Ta	abs				
238524	Pocket tab	Clear pocket with pastel blue tab	5	CD Size	
238525	Pocket tab	Grey pocket with grey tab	5	A5 size	
238526	Pocket tab	Grey pocket with pastel blue tab	5	A5 size	

AVERY NOTETAB BOOKS

Perfect for your bag, pocket, car and more. NoteTabs are protected with a book cover to prevent damage in your bag, pocket or on your desk. Write it, mark it, highlight it, divide it with NoteTabs. Getting organised and staying organised has never been more convenient.

Code	Colour	Edge	Tabs / Pack	Size
239541	Citrus	Round	20	
239542	Neon Blue & Neon Magenta	Traditional Square	20	2x1.5
239543	Cool Blue & Cool Green	Traditional	20	2x1.5
239544	Neon Blue, Neon Magenta, Yellow	Combination	25	



EDUCATION

AVERY MERIT STICKERS

Code	Description	Stickers / Pack	
Print	: Your Own		
6970	2* Avery DIY print your own Merit Certificates and Bookmarks	10 certificates and 25 bookmarks	
6970	1* Avery DIY print your own Merit Stickers	140 round labels and 120 star labels	
Merit	t Sticker Packs		
2394	10 Smiley Faces	102	
2394	06 3D Stars	96	
2395	14 Bookworm	102	
2394	03 Brights	96	
2394	04 Googly Eyes Roll	100	
2395	12 Mini Faces	800	
2394	08 Mini Assortment	800	
2394	09* Mini Brights	800	
2395	13 Multi-Captions	200	
2394	01* Paint Splats	96	
2394	00 Faces Roll	50	
2394	05 Super Stars Roll	100	
2395	11 Words	96	
2394	02 WOW Stars Roll	50	
*Prod	uct currently only available on indent order.		

PEEL & STICK DRY ERASE SHEETS

The Peel and Stick range offers consumers the ability to create a writable whiteboard surface anywhere. The quality adhesive means that the sheets can be used almost on any flat surfaces but can be easily removed, without causing damage to walls or leaving any residue. They are also very durable, they can be reused and are rewritable. The sheets erase cleanly and won't leave any ghosting like normal whiteboards do. The 'Peel and Stick' Dry Erase sheets come in a variety of sizes, shapes and colour, and priced for everyday value for consumers.

Code	Product Description	Size (mm)	Sheets per pack
220023	Peel and Stick Dry Erase Sheet - White	102 x 152	5
220006	Peel and Stick Dry Erase Sheet - White	216 x 279	5
220007	Peel and Stick Dry Erase Sheet - White	254 x 254	5
220008	Peel and Stick Preprinted Practice Handwriting Sheets	216 x 279	3
220009	Peel and Stick Preprinted Calendar Sheets	254 x 254	2
220017	Peel and Stick Dry Erase Decals - Quotes Yellow	254 x 254	3
220016	Peel and Stick Dry Erase Decals - Quotes Blue	254 x 254	3
220019	Peel and Stick Dry Erase Decals - Circles Yellow	254 x 254	3
220018	Peel and Stick Dry Erase Decals - Circles Blue	254 x 254	3
220024	Peel and Stick Dry Erase Decals - Clouds Yellow	254 x 254	3
220022	Peel and Stick Dry Erase Decals - Clouds Blue	254 x 254	3
220025	Peel and Stick Dry Erase Decals - Assorted	254 x 254	3



rds

AVERY





